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Q.1 Inthe following question, select the odd group of numbers from the given
alternatives.

Ans X A (47,95,197)
X B.(37,63,127)
25 C. (54,109, 219)

r AT 128 979D
o L.(67,139 272)

Question ID : 1034357798

Q.2 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I.AllPareC.

Il. Some C are D.
I1l. AlID are N.
Conclusions:
I.Some N are C.
Il. Some P are N.
Ill. Some D are P.

Ans X A. Only conclusion Il follows
X B. All conclusion follows

/< C.Only conclusion Il follows

o L. Only conclusion | follows

Question ID : 1034357796
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Q.3 Apiece of paperis folded and punched as shown below in the question figures. Fro
the given answer figures, indicate how it will appear when opened?

s e
Ve
: - A rssrns v d
Ans 444D
b VYV 4
KAl aaq
4vV D
> & 4
4 v b
KRB lq 4 »
> v
> a4 4
4aAD
XClavwop
> VY 4
> aa 4
lavep
vVYldaaanp
> vV q

Q.4 Based on the given venn diagram, which of the following statement(s) is/are
correct?
I. The number of apples which are mango is 81.
Il. The number of Bananas which are apple is 100.

99
— Apple

64 /36\ 81

75 \38/ 100
Banana Mango

Ans A Onlyll

X B.Only|
X C. Bothland Il

X D. Neither I nor ||

are similar on basis of same Logic/Rule/Relation. Select the odd one out from the
given alternatives.

Ans o A JZ - KY
7% B.CF=BE
X C.XQ-WP
X D.NP- MO
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Question ID : 1034357805

Question ID : 1034357800

Q.5 Inthe following question, four letter pairs are given. The letters on left side of (-)is
related to the letters on the right side of (-) with some Logic/Rule/Relation. Three

Question ID: 1034357788
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Q.6 Inthefollowing question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I.SomeRare Z.

Il. Some Z are P.
Conclusions:
|.Some P areR.

Il. Some R are not P.

Ans ¢ A. Neither conclusions follow
25 B. Only conclusion Il follows
X C.Both conclusions | and Il follow

X D. Only conclusion | follows
Question ID : 1034357795

Q.7 If amirroris placed on the line AB, then which of the answer figures is the right
image of the given figure?

A

A
B

Ans

A

X A
V8 A
X C N
XD h

Question ID : 1034357804
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Q.8 Sixpersons A, B, C,D, EandF have their off on six different days of the same week
from Monday to Saturday (not necessarily in the same order). No two persons has
off on the same day. Two persons have of f hetween D and F. Two persons have of f
between Aand E. C has off just after A has off. D has off on Friday. Which of the
following statement is correct?
I. Ahas off on Wednesday.
Il. One person has of f between A and B.

Ans X A Onlyll
o B.Bcthland |l
X C.Only!
/5 D. Neither I nor Il

Question ID : 1034357793

Q.9 Inacertain code language, ‘'VIOLENT ' is written as ‘ZMSHIRX'. What is the code for
‘CORDIAL in that code language?

Ans X A GSUZMFP
X B.GSVZNEP
o C.GSVZMEP
X D. GSUZNEP

Question ID : 1034357791

Q.10 Sixboys B1, B2, B3, B4, B5 and B6 have six different phones P1, P2, P3, P4, P5 and P6
(not necessarily in the same order). B3 has P6. B1 does not have P3 or P4. B4 does
not have P2, P3 or P5. B6 has P1. B5 does not have P3 or P5. Which phone does B2
have?

Ans X A P2
X B.P4
v C.P3
X D.P5

Question ID : 1034357792
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Q.11 Two figures given on the left side of (::) are related with some logic/rule/relation.
Select the missing figure on the right of (::) from the given alternatives based on the

same logic/rule/relation.

[} o0 ]
0
Al Ayl BL o] 2
Ans

0
Al e

e
X B ojo

s

Question ID: 1034357803

Q.12 How many red are neither blue nor green?

Red ﬁ‘ Green
(s

Blue

Ans X A 16
v/:

X D.26

Question ID : 1034357799

Q.13 Aseries is given with one term missing. Select the correct alternative from the
given ones that will complete the series.
AL, YP,WT, UX, SB,?

Ans A GF
X B.PF
X C.RF
X D.QE

Question ID : 1034357786
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Q.14 Aseries is given with one term wrong. Select that wrong term from the given

alternatives.
259,292, 327, 366, 403, 444

Ans X A 444

& B 366
X 6327
X D. 403

Question ID : 1034357797

Q.15 Inthe following question, select the related letter pair from the given alternatives.

MAV :PEA :?
Ans o A PFE SJJ
X B.NQS:QVX

X C.ADX:DHB

X D.RCT : UFY

Question ID : 1034357790

Q.16 Inthe following question, select the related words from the given alternatives.
School: Teacher ::Hospital : ?

Ans X A. Scalpel

X B Needle

/< D. Lawyer

Question ID : 1034357789

Q.17 Eight persons A, B, C, D, E, F, G and H sit around a circular table facing towards the
centre (not necessarily in the same order). Three persons sit between G and H. Two
persons sit between B and G. Two persons sit between C and E. Asits to the
immediate left of D. H is not the neighbour of D. E sits fourth to the right of B.
Which of the following statement is correct?

I. G sits to the immediate left of F.
Il. Two persons sit between D and F.

Ans X A QOnly|
/% B. Neither Inor |l
X C.Onlyll
o” D.Both land I

Question ID : 1034357794

Q.18 Pis facing towards the south. He rotates 135 degree in the anticlockwise direction.
Then, he rotates 120 degree in the clockwise direction. In which direction is he
facing now?

Ans X A North-west
X B. North-east
25 C. South-west

¢ D. South-east

Question ID : 1034357801
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Q.19 Arrange the given words in the sequence in which they occur in the dictionary.

1. Vaccillating
2. Vacationing
3. Vaccination
4. Vacuumising
5. Vacillatory

Ans ¢ A.21354
X B.23154
X C.23145
X D 21345

Question ID : 1034357787

Q.20 Tarun walks 10 metre to the north from point A and reaches point B. He turns to
the left and walks 15 metre and reaches point C. He again turns to the left and
walks 20 metre and reaches point D. He turns to the right and walks 15 metre and
reaches point E. He again turns to the right and walks 25 metre and reaches point F.

Which of the following statement is correct?

I. Point Bis to the south-east of point F.
Il. Point Fis to the north-west of point A.

Ans ¢ A.Bothlandll
X B. Neither | nor Il
X C.Only|
X D.Onlyll

Question ID : 1034357802

Q.1 Magnus Carlsen is associated with which sports?
Ans ¢ A Chess

X B. Volleyball

X C.Badminton

2% D. Cricket

Question ID : 1034357825

Q.2 Onthe basis of number of cotyledons present in the seed, the angiosperms are
divided into groups.

Ans X A5
X B.3
X C4
v

Question ID : 1034357811
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Q.3 'Gochi' festival is celebrated in which state of India?
Ans ¢ A Himachal Pradesh

/< B.Punjab

X C. Rajasthan

X D. Uttar Pradesh

Q.4 Which of the following statement is correct?
I. Demand curve is arelation between the quantity of the good chosenbya

consumer and the price of the good.
Il. Law of demand states that other things being equal, there is a positive relation
between demand for a commodity and its price.

Ans X A Bothlandll
X B.Only
& C.Only
2< D. Neither I nor Il

Q.5 Which article of Indian constitution is related to the prohibition of employment of
children in factories etc.?

Ans X A Article 21
X B. Article 17
« C. Article 24
/¥ D. Article 20

Q.6 Which of the following statement is correct?
I. Prarthana Samaj was established in 1867.
1. Aligarh Muslim University was founded by Moulana Abul Kalam Azad.

Ans X A Bothland |l
X B. Neither | nor ||

o C. Only
X D.Only 1l

Q.7 Which of the following is also known as ‘Golden Fibre'?
Ans v 4 A Jute

X B.Millets

X C.Maize

X D. Cotton
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Question ID : 1034357809

Question ID : 1034357823

Question ID : 1034357818

Question ID : 1034357813
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Q.8 Who among the following person has NOT been awarded Nobel prize 2020 for
physics?

Ans o A Jennifer A Doudna
X B.Roger Penrose
X C.Reinhard Genzel

X D. Andrea M. Ghez

Question ID : 1034357821

Q.9 Rajaraja | was the ruler of dynasty.

Ans X A Chandella

/X B Pallava
X C.Chalukyas

J U. Lhaola

Question ID : 1034357817

Q.10 Which of the following statement is correct?
I. The Labrador ocean current is a cold current.
Il. The areas where a warm and cold current meet experience foggy weather.

Ans X A Onlyl

 B.Both land Il
X C. Neither I nor |l

X D.Only ll

Question ID : 1034357815

Q.11 The highest peak of eastern ghats is
Ans X A Doda Betta

X B.Kanchenjunga

 C. M
X D. Anai Mudi

endragiri

Question ID : 1034357814

Q.12 Number of players in each team of Volleyball is
Ans X A7

Xcs
X D5

Question ID : 1034357824
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Q.13 The book “Meghdoot” was writtenby ______ :
Ans X A Kalhana

o’ B.Kalidasa

X C.Surdas

/X D. Panini

Q.14 The Sl unit of electric potential difference is
Ans X A Ampere

X B. Coulomb
X C.Ohm
” D. Volt

Q.15 The Bara Imambara is situated in which state of India?
Ans X A Rajasthan

X B. Tamil Nadu
/X C.Maharashtra

«” D. Uttar Pradest

Q.16 'INDRA NAVY'is a naval exercise between ______ and __
Ans X A Indig, Bangladesh

X B.India, France
X C.India, Australia

J U, Ingdila, Russiz

Ans X A. 26 January 1946

B 9 December 1946
X C. 26 November 1946

X D. 9 December 1945

Q.18 Market stabilization scheme was introduced by RBI in
Ans 7 A 2004

X B.2006

X C.2005

X D.2003

Q.17 The first session of the constituent assemblywas heldon ______ .
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Question ID : 1034357810

Question ID : 1034357806

Question 1D : 1034357819

Question ID : 1034357822

Question ID : 1034357808
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Q.19 In which year Vasco Da Gama came to India?
Ans ¢ A 1498

X B.1450
X C.1445
X D.1470

Question ID : 1034357816

Q.20 Which of the following statement is NOT correct?
Ans X A The Sl unit of forceis kg m/s?

/X B.Inanisolate system, the total momentum remains conserved

oby

o

~t
L

5]
&

o’ C.Action and Reaction forces always act on the sam

X D. Themass of an objectis a measure of its inertia

Question ID : 1034357812

GET IT ON

Google Play

Q.1 The table given below shows the number of cars sold by three different companies.

Company

P1Q
Cl [ 40 [ 25 | 180

Cars

C2 |20 (15| 20
C3 | 80 | 60 | 45
C4 [ 105]120| 70
C5 | 35 {160 | 80

Which of the following statement is correct?

I. The number of car C1sold by P is 160 percent of number of car C1 sold by Q.
Il. The average number of cars C3, C4and C5 sold by Ris 65.

I1l. The sum of number of all cars sold by Q is 380.

Ans X A.Bothland Il
o B. | lland|
X C.Bothlland Il
/X D.Bothlandll

Question ID : 1034357843

Q.2 Average of 13 numbers is 22. If each number is multiplied by 3, then what will be the
new average?

Ans X A 48
V B 66
X C.68
X D.44

Question ID : 1034357831
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Q.3 Mis 25 percent more than N. N is how much percentage less than M?
Ans A
X B. 25 percent

20 percent

X C.25.5 percent
X D. 15 percent

Q.4 If radius of a sphere is increased by 30 percent, then what will be the percentage
increase in its volume?

Ans X A. 120 percent
/X B. 90 percent

& C.119.7 percent
< D. 125.5 percent

Q.5 The speed of a bike is 39.6 km/hr. How much time will the bike take to cover a
distance of 330 meters?

Ans X A 20 seconds
X B. 24 seconds

X C.36seconds

” D. 30 secor
Q.6 6
What is the simplified valueof —— — = ?
5+443
Ans
24413 - 30
vA ——— &
23
1343 -15
X 8 3473 —11
27
/= =
xc 24~j5 - 25
)5
Sif3 — 2
o 15V3-24
32
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Question ID : 1034357833

Question ID : 1034357838

Question ID : 1034357828
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Q.7 If a:\lfé_\f'ﬁ and b=\/6 _,;_\[1_1 ,then what is the value of (b - a)?

Ans XAJg
Ve N2
xXc
XD f3

Question ID : 1034357829

Q.8 Amar, Ritesh and Karan start a partnership. They invested Rs. 10000, Rs. 24000 and
Rs. 16000 respectively. Amar, Ritesh and Karan stay in partnership for 2 months, 6
months and 8 months respectively. If total profit is Rs. 146000, then what is the
combined share of Amar and Karan in the profit?

Ans X A Rs. 64000
& B.Rs.74000
X C.Rs. 84000
X D.Rs. 72000

Question ID : 1034357836

Q.9 PandQtogether cancomplete a work in 10 days. Q and R together can complete
the same work in 15 days. If P, Q and R all work together, then the same work gets
completed in 7.5 days. How many days will P and R together take to complete the
same work?

Ans X A 15days
X B.5days
X C.7days

y’ D. 10 day

Question ID : 1034357840

0
Diagonal of a square is 2672 cmm - What is the area of this square?

Ans X A 169 cm?
X B.338cm?
o C. 676«
X D.576 cm?

Question ID : 1034357841

Q.11 If a number 5872Y is exactly divisible by 9, then what is the value of Y?
Ans ¢ A5

X B.8

X C4

X D9

Question ID : 1034357827
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Q.12 Simple interest on a sum of Rs. 2400 for 2 years is Rs. 288. What is the annual rate
of interest?

Ans X A 5percent
«” B. 6 percent
X C. 4 percent
/< D. 8 percent

Question ID : 1034357837

Q.13 The bar graph given below shows the marked price and discount of 7 articles.

1000

900
800

600

400 400
300 300
200 200
100 100

P Q R S T U V
@ Marked Price  ODiscount

Selling price = Marked price - Discount

J1 =The average selling price of articles P,Q,Rand S.

J2 =The difference between total marked price and total selling price of all 7
articles.

What is the value of (J2 - J1)?

Ans X A 1050
X B.1250
& C.1150
X D.1390

Question ID : 1034357845

Q.14 What is value of (24 + 8 x5) - (8 x3 + 2)?
Ans X A 1.5

X B9
& C.3
X D2

Question ID : 1034357826
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Q.15 Diameter of wheel of a cycle is 4.2 cm. A cyclist takes 90 minutes to reach a
destination at the speed of 23.1 km/hr. How many revolutions will the wheel make
during the journey?

Ans X A 316400
X B. 226500
X €.172500

W D. 262500

Question ID : 1034357839

Q.16 Vijay sells an article at a profit of 20 percent. If both the cost price and selling price
are reduced by Rs. 20, then the profit becomes 30 percent. What is the initial cost
price?

Ans X A Rs.100
X B.Rs.80

X D.Rs.75

Question ID : 1034357834

Q.17 In what ratio tea of Rs. 90 per kg should be mixed with tea of Rs. 120 per kg so that
on selling the mixture at Rs. 132 per kg there is a profit of 20 percent?

Ans X A.1:3
X B 1:4
v C1:2
N D.2:3

Question ID : 1034357835

Q.18 Asolid cylinder is melted to form solid cones. Radius of cylinder is double of the
radius of cone. Height of the cylinder is five time of the height of cone. How many
cones will be formed?

Ans X A 45

V’ B. 60
X C.50

X D.65

Question ID : 1034357842
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Q.19 The line chart given below shows the cost price of 5 articles.

What is the average cost price of allthe 5articles?
Ans X A 300

X B.320
X C.280

Question ID : 1034357844

.20 - -
. What is the digit at the unit place 55 . P A

Ans X A D
X B. 4
¢ C.5
X Db

Question ID: 1034357830

Q.1 Choose the word that is opposite in meaning to the given word.
Aforethought

Ans ¢ A Impetuous
X B. Protract
X C.Provident
X D. Foresighted

Question ID : 1034357855
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Q.2 Asentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
I felt about not being able to help her.

Ans X A tranquil
X B.calm
o C.awful
X D.sorrow

Question ID : 1034357850

Q.3 Rearrange the parts of the sentence in correct order.
P: Our friends may change over time.
Q: Songs are the most faithful of friends.
R: They are never cross, peevish, or unwilling to converse.
S: But our songs are always patiently waiting to talk to us.

Ans ¢ A QPSR
X B.PRQS
X C.QSPR
X D.QRSP

Question ID : 1034357853

Q.4 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your

answer.
He is very much thankful.

Ans ¢ A very thankful
X B. Noimprovement
X C.very much thanks

< D.very many thanks

Question ID : 1034357848

Q.5 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
With bad grace

Ans & A Inarude manner
X B.Tothreaten
X C.To pray for death
X D.Toignore

Question ID : 1034357859

Q.6 Choosethe word that means the same as the given word.
Stubborn

Ans X A Obtrusive
X B.Obese
25 C. Observant

«” D. Obstinate

Question ID : 1034357854
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Q.7 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.
Being a rainy day (1)/ Shiv decided to stay at (2)/ his friend's place (3)/.No error (4)

Ans ¢ A
X B.3
X C.4
X D.2

Question ID : 1034357846

Q.8 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your
answer.

His dislike for her has being increased significantly lately.

Ans X A dislike with her has being increasing
< B. Noimprovement
/X C.dislike for her has been increasing

o D. dislike to her has been increasing
Question ID : 1034357849

Q.9 Choose the word that can substitute the given sentence.
A person having the same name as another

Ans X A Pseudonym
o B. Namesake
25 C. Sculptor

X D. Posthumous

Question ID : 1034357860

Q.10 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A Turquois
 B. Turquoise
X C.Tarquise

X D. Turqoise

Question ID : 1034357857

Q.11 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To grease somebody's palm

Ans X A Togain profit
X B. To flatter somebaody
«” C.Tobribe

/X D.Tocheatsomeone

Question ID : 1034357858
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Q.12 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A Forfiett
X B. Forfette
X C. Forfiet

Question ID : 1034357856

Q.13 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
Either Vimla or Kamla the cake.

Ans X A make
X B.bake

o C.bakes
X D. eat

Question ID : 1034357851

Q.14 Find the part of the given sentence that has an errorinit. If there is no error,
choose ‘No error’.
The accelerated flow of goods, services and skills are(1)/one of the principal
reasons for the (2)/ most rapid reduction of global poverty in history (3)/.No error

(4)

Ans AT
N B3
G2

X D4

Question ID : 1034357847

Q.15 Rearrange the parts of the sentence in correct order.
It was a large
P: Square mahogany box
Q:To open the lids at the top
R: Well polished and there was a
S:Handle you had to wind

Ans X A PQRS
X B RPSQ
« C.PRSQ
/< D.PSQR

Question ID : 1034357852
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Ans

Comprehension:

Read the following information carefully and answer the given questions.

Albert Einstein, German-born physicist who developed the special and general theories of
relativity and won the Nobel Prize for Physics in 1921 for his explanation of the photoelectric
effect. Einstein is generally considered the most influential physicist of the 20th century.
Einstein's parents were secular, middle-class Jews. His father, Hermann Einstein, was
originally a featherbed salesman and later ran an electrochemical factory with moderate
success. His mother, the former Pauline Koch, ran the family household. He had one sister,
Maria, born two years after Albert.

Einstein would write that two “wonders” deeply affected his early years. The first was his
encounter with a compass at age of five. He was mystified that invisible forces could deflect
the needle. This would lead to a lifelong fascination with invisible forces. The second
wonder came at age 12 when he discovered a book of geometry, which he devoured, calling
it his “sacred little geometry book.”

Einstein became deeply religious at age 12, even composing several songs in praise of God
and chanting religious songs on the way to school. This began to change, however, after he
read science books that contradicted his religious beliefs. T his challenge to established
authority left a deep and lasting impression. At the Luitpold Gymnasium, Einstein often felt
out of place and victimized by a Prussian-style educational system that seemed to stifle
originality and creativity. One teacher even told him that he would never amount to anything.
Einstein's education was disrupted by his father's repeated failures at business. In 1894,
after his company failed to get an important contract to electrify the city of Munich,
Hermann Einstein moved to Milan to work with a relative. Einstein was left at a boarding
house in Munich and expected to finish his education. Alone, miserable, and repelled by the
looming prospect of military duty when he turned 16, Einstein ran away six months later
and landed on the doorstep of his surprised parents. His parents realized the enormous
problems that he faced as a school dropout and draft dodger with no employable skills. His
prospects did not look promising.

Fortunately, Einstein later got admission to Eidgendssische Polytechnische Schule in
Zurich. Einstein would recall that his years in Zirich were some of the happiest years of his
life.

SubQuestion No : 16

Q.16 What contradicted Einstein's religious beliefs?

" A. Science books
X B. His fathers’ work tragedy
X C. Prussian-style educational system

/< D.Book of geometry
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Comprehension:

Read the following information carefully and answer the given questions.

Albert Einstein, German-born physicist who developed the special and general theories of
relativity and won the Nobel Prize for Physics in 1921 for his explanation of the photoelectric
effect. Einstein is generally considered the most influential physicist of the 20th century.
Einstein's parents were secular, middle-class Jews. His father, Hermann Einstein, was
originally a featherbed salesman and later ran an electrochemical factory with moderate
success. His mother, the former Pauline Koch, ran the family household. He had one sister,
Maria, born two years after Albert.

Einstein would write that two “wonders” deeply affected his early years. The first was his
encounter with a compass at age of five. He was mystified that invisible forces could deflect
the needle. This would lead to a lifelong fascination with invisible forces. The second
wonder came at age 12 when he discovered a book of geometry, which he devoured, calling
it his “sacred little geometry book.”

Einstein became deeply religious at age 12, even composing several songs in praise of God
and chanting religious songs on the way to school. This began to change, however, after he
read science books that contradicted his religious beliefs. T his challenge to established
authority left a deep and lasting impression. At the Luitpold Gymnasium, Einstein often felt
out of place and victimized by a Prussian-style educational system that seemed to stifle
originality and creativity. One teacher even told him that he would never amount to anything.
Einstein's education was disrupted by his father's repeated failures at business. In 1894,
after his company failed to get an important contract to electrify the city of Munich,
Hermann Einstein moved to Milan to work with a relative. Einstein was left at a boarding
house in Munich and expected to finish his education. Alone, miserable, and repelled by the
looming prospect of military duty when he turned 16, Einstein ran away six months later
and landed on the doorstep of his surprised parents. His parents realized the enormous
problems that he faced as a school dropout and draft dodger with no employable skills. His
prospects did not look promising.

Fortunately, Einstein later got admission to Eidgendssische Polytechnische Schule in
Zurich. Einstein would recall that his years in Zirich were some of the happiest years of his
life.

SubQuestion No : 17
Q.17 The passage mainly talks about:
Ans X A Einstein's interest in science

/X B. Graduation year of Einstein
«” C. Einstein's childhood struggles

/X D.Einstein's miseries in childhood
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Comprehension:

Read the following information carefully and answer the given questions.

Albert Einstein, German-born physicist who developed the special and general theories of
relativity and won the Nobel Prize for Physics in 1921 for his explanation of the photoelectric
effect. Einstein is generally considered the most influential physicist of the 20th century.
Einstein's parents were secular, middle-class Jews. His father, Hermann Einstein, was
originally a featherbed salesman and later ran an electrochemical factory with moderate
success. His mother, the former Pauline Koch, ran the family household. He had one sister,
Maria, born two years after Albert.

Einstein would write that two “wonders” deeply affected his early years. The first was his
encounter with a compass at age of five. He was mystified that invisible forces could deflect
the needle. This would lead to a lifelong fascination with invisible forces. The second
wonder came at age 12 when he discovered a book of geometry, which he devoured, calling
it his “sacred little geometry book.”

Einstein became deeply religious at age 12, even composing several songs in praise of God
and chanting religious songs on the way to school. This began to change, however, after he
read science books that contradicted his religious beliefs. T his challenge to established
authority left a deep and lasting impression. At the Luitpold Gymnasium, Einstein often felt
out of place and victimized by a Prussian-style educational system that seemed to stifle
originality and creativity. One teacher even told him that he would never amount to anything.
Einstein's education was disrupted by his father's repeated failures at business. In 1894,
after his company failed to get an important contract to electrify the city of Munich,
Hermann Einstein moved to Milan to work with a relative. Einstein was left at a boarding
house in Munich and expected to finish his education. Alone, miserable, and repelled by the
looming prospect of military duty when he turned 16, Einstein ran away six months later
and landed on the doorstep of his surprised parents. His parents realized the enormous
problems that he faced as a school dropout and draft dodger with no employable skills. His
prospects did not look promising.

Fortunately, Einstein later got admission to Eidgendssische Polytechnische Schule in
Zurich. Einstein would recall that his years in Zirich were some of the happiest years of his
life.

SubQuestion No : 18
Q.18 At what age, Einstein had an encounter with a compass?
Ans X A 12years

X B. 20 years
«” C.5years
/X D.16 years

Question ID : 1034357863
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Ans

Comprehension:

Read the following information carefully and answer the given questions.

Albert Einstein, German-born physicist who developed the special and general theories of
relativity and won the Nobel Prize for Physics in 1921 for his explanation of the photoelectric
effect. Einstein is generally considered the most influential physicist of the 20th century.
Einstein's parents were secular, middle-class Jews. His father, Hermann Einstein, was
originally a featherbed salesman and later ran an electrochemical factory with moderate
success. His mother, the former Pauline Koch, ran the family household. He had one sister,
Maria, born two years after Albert.

Einstein would write that two “wonders” deeply affected his early years. The first was his
encounter with a compass at age of five. He was mystified that invisible forces could deflect
the needle. This would lead to a lifelong fascination with invisible forces. The second
wonder came at age 12 when he discovered a book of geometry, which he devoured, calling
it his “sacred little geometry book.”

Einstein became deeply religious at age 12, even composing several songs in praise of God
and chanting religious songs on the way to school. This began to change, however, after he
read science books that contradicted his religious beliefs. T his challenge to established
authority left a deep and lasting impression. At the Luitpold Gymnasium, Einstein often felt
out of place and victimized by a Prussian-style educational system that seemed to stifle
originality and creativity. One teacher even told him that he would never amount to anything.
Einstein's education was disrupted by his father's repeated failures at business. In 1894,
after his company failed to get an important contract to electrify the city of Munich,
Hermann Einstein moved to Milan to work with a relative. Einstein was left at a boarding
house in Munich and expected to finish his education. Alone, miserable, and repelled by the
looming prospect of military duty when he turned 16, Einstein ran away six months later
and landed on the doorstep of his surprised parents. His parents realized the enormous
problems that he faced as a school dropout and draft dodger with no employable skills. His
prospects did not look promising.

Fortunately, Einstein later got admission to Eidgendssische Polytechnische Schule in
Zurich. Einstein would recall that his years in Zirich were some of the happiest years of his
life.

SubQuestion No : 19

Q.19 What is the synonym of the word-‘devoured’ as used in the passage?

X A.Build

o’ B. Absorbed
X C.Replaced
X D.Raised
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Comprehension:

Read the following information carefully and answer the given questions.

Albert Einstein, German-born physicist who developed the special and general theories of
relativity and won the Nobel Prize for Physics in 1921 for his explanation of the photoelectric
effect. Einstein is generally considered the most influential physicist of the 20th century.
Einstein's parents were secular, middle-class Jews. His father, Hermann Einstein, was
originally a featherbed salesman and later ran an electrochemical factory with moderate
success. His mother, the former Pauline Koch, ran the family household. He had one sister,
Maria, born two years after Albert.

Einstein would write that two “wonders” deeply affected his early years. The first was his
encounter with a compass at age of five. He was mystified that invisible forces could deflect
the needle. This would lead to a lifelong fascination with invisible forces. The second
wonder came at age 12 when he discovered a book of geometry, which he devoured, calling
it his “sacred little geometry book.”

Einstein became deeply religious at age 12, even composing several songs in praise of God
and chanting religious songs on the way to school. This began to change, however, after he
read science books that contradicted his religious beliefs. T his challenge to established
authority left a deep and lasting impression. At the Luitpold Gymnasium, Einstein often felt
out of place and victimized by a Prussian-style educational system that seemed to stifle
originality and creativity. One teacher even told him that he would never amount to anything.
Einstein's education was disrupted by his father's repeated failures at business. In 1894,
after his company failed to get an important contract to electrify the city of Munich,
Hermann Einstein moved to Milan to work with a relative. Einstein was left at a boarding
house in Munich and expected to finish his education. Alone, miserable, and repelled by the
looming prospect of military duty when he turned 16, Einstein ran away six months later
and landed on the doorstep of his surprised parents. His parents realized the enormous
problems that he faced as a school dropout and draft dodger with no employable skills. His
prospects did not look promising.

Fortunately, Einstein later got admission to Eidgendssische Polytechnische Schule in
Zurich. Einstein would recall that his years in Zirich were some of the happiest years of his
life.

SubQuestion No : 20

Q.20 All the given statements are correct EXCEPT:

GET IT ON
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Ans X A Einstein ran away from a school he was first admitted to after first six months.
«” B. Before Einstein acquired 16 years of age, he' was lefi.ataboarding house in Zurich
to complete his school
X C.In 1894, Einstein's education was disrupted because of his father's repeated failures
atbusiness
X D.Einstein was two years older than her sister.
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Comprehension:

e Tt T T g1 e & SR UR utd U U 7Y &1 el it enydes ue auT Ul Uy H IR
faeneat # & Wt faehe 771

TS & fU AT &1 iR dgd Agayul 81 3 SRR &1 IR ST T AT W AT § STET
TR FFA & gHeT Gt ATTRERT & T TAMA1 61 hagR fahar STrar g1 Rd J geft Al &l S & aEe
TRETUT TYT I o GHE G JUeed e & [T g orae (e 14-18) ford 7t &1 a8 e,
e, S, foi a1 St 2 & o wR Rt Hewrd or A are g1 it ag gRifgd ewar g ool
RTRE 1A & THeT THH g | 33 dreud 7g & 3 221 & Al g1 g ot T TReror faer) sig
off T & FOR T 1 3T 1 & (& At 2l eafeh O TR o STORTE e § dl S foT fehedT ST &
T U T T o, X, S, folm am 571 v & omuR R foseht & ary stesa g | ag
I G o oy sitaea g1 HRd & Yedeh AR &l g, SIedTH g, HHRei & drdeia
Ty qe T Ugd gt duT ag o, ararat srran agan! o wa 5 fonelt sieea & o wehar 81
gicifeh Wsd gRT Afgerai ok aeal & forg ey uraer @ ge &l g &t S Geahd! §1 drdei- AR
& ATl § 19 & gRT fonet & ey i e A R S geft Amies simden o ged § auT IS
& HHAR g9 Tohd &1 FATT TUT JIGaT & TR UR ISR Juae g |

SubQuestion No : 16
Q.16 forg e W AT IueTey g 82
Ans X A FmRe

v 4 B. aigan
X C.3meA
X D.end
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Comprehension:

wa e e ma &1 erier & SnuR W Ot u fow g &)1 weriyr it emyd e ue aun ude uy H 9R
faeeat # @ Wt faeed

TS & fIQ AT &1 SRR Tgd Aeaqul 81 36 YRR &1 I8y HIT I AT R AT § STol
UR 1A & gHe G ATRe] & a1y GHIAT &1 AdeR R STl &1 HRd J G0 @l i A a6 HE
TRETUT JUT A1 & THET T JUTe e & folg uid Ira e (seee 14-18) fowdt mat €1 ag e,
T, S, ol ar o7 w1 o SuR 1R ot Aewra O ek e g1 wider ag gifgd ewar & i e
ANTR 1A & THET G g1 | gaa! aread ag & fh 2 & arAT g1 g it g deeror faeh i
off S T SR TG &1 39 31 & foh afe af afeh wan v o sroRTe e € Y 3% fo foedt gama &
TAM <ug e I e, 5, Sifd, fot a1 o7 R & e ox et o |1y Siere J8 Tl a8
TrfStes FHE1 & g STa9ae &1 9Ra o e ATTRS 61 G, STedT g, HAIRSH & grdsitd
YT qeh YA Ugd gt a1 a8 i, dreral e ggenl el gan 1 it igedra & e Feha 81
EIeAifch W5 gRT Afgeadi Sk Fedi o (oY [0 e @ B¢ el awIT &l S Gend! g1 TTawii-ich TR
& ATl § e & ZRT fonet & e sl Sera w8 g s gt Avies emded @R ged € quT Ty
& FHIRY G T &1 FATAT TUT TAT & TR TR ASTIR Juetes] it |

SubQuestion No : 17
Q.17 dfawns & e ag A= T it e 82
Ans X A faar-fansf & guan

X B. adurfies w0 e

& C. T TRa
X D.aug
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Comprehension:

e Tt T T g1 e & SR WR utd u U 7Y g1 el it enydes Ue auT udeh Uy H 9R
faemeat # & wet faehe 771

TS & fQ AT &1 3ifeR dgd Agayul @1 39 SRR o1 I8 HI T AT W AT § STET
TR FFA & gHeT Gt ATTRET & T TAMA1 61 hagR ot STrar g1 Rd 8 geft Sl &l S & e
TRETUT TYT I o GHE G JUTed e & [T ig Urae (e 14-18) ford 7 81 a8 e,
e, S, foi a1 St 2 & amuR W fRet wewrd or A @ g1 i ag gRifgd ewar g ol
TR 1A & THeY THH g | 33 aTeud 7g & & 221 & Al g1 g ot T TReror faek) g
off T @ IR T 1 3T a1 & (G At & etk Oon HeRR o STORTE e § l S [T fehedT ST &
AT 2Ug e Ty e, e, S, i an S v & oimR ur Rhet &y steama A8 e ag
I G o oIy Simaeeds &1 HRd & Yedeh AR &l g, STedTH g, HHRe & drdeia
YT qe T Ugd gt der ag o, ararat srran agan! o s 5 foelt sieema & o wehar 81
gIciifeh Tod gRT Afgerait ok aeal & forg faehy uraer @ ge &l g & S Gehd! §1 drdeif-ie AR
& ATl § 19T & gRT fonet & ey i e A R S geft AmiRes sirden @R ged § auT IS
& HHAR &9 Tohd &1 TG TUT JIGaT & TR UR ISR Iuee g |

SubQuestion No : 18
Q.18 Iudh Texier &1 Iugh ftefes @t ghm?
Ans X A T H & AR W 9T

X B. faziedt & g
J C. GHTTAT &1 HTURR

X D. a1 g qzw 7 HgurE
Question ID : 1034357887

Comprehension:

we e fén ma &1 erier & SnuR W Ot y fow g &)1 weriyr it eyde ue aun ude uy H aR
faereat # @ Wt faeed

TS & fIQ G &1 AR Tgd Aeaqul 81 36 YRR &1 I8 HI I AT R AT & STo1
R A & gHeT G ATTREA & T1 FHEET 1 dgR T ST @1 9Re H G Al A A @ gEE
TRETUT JUT I & GHET THHAT JUTe e & folg uig Irae (sreee 14-18) fowt mat €1 ag e,
T, S, ol @ o771 w1 o SuR 1R et Aewra R ek e g1 wid e ag gifd ewar & o ad
RTRE 17 & THeT THH g1 g3em aTeud ag § ok 221 & sl g R at g TReror faenT i
off A @ FOR A 81 guent o 2 o afe < egfen gan wenr o SroRTer A € ot 3% fee faredt sgama &
TAM <ug e g e, 95, Wifd, fot a1 57 R & e ox fonedt & |1y Serd Jg1 Tl a8
TrIfStes FHE & g Sa9ae &1 9Ra o e ATTRS &) G, STedT g, HHIRSH & rdsid
YT qeh T Ugd gt a1 a8 o, dreral e ggenl el wan &1 fereft sigedra & e Fewa 81
EIeifeh Wod gRT Afgetadl Sk Fedi o (oY [T UG @ Se ol a®iT &l S Gend! g1 Trawif-ich TR
& ATl § e & gRT o & ey sl e w8 fohar s g Amies emden @R ged € quT TSy
& FHIRY &9 Tt &1 AT TUT TTGET & SR TR ASTIR Jueee] it |

SubQuestion No : 19
Q.19 wrsat g1 afgenai g o=t & w1 d eawyr ver i s 87
Ans X A FmiRadn

X B. 9l
X C. @ 78

" 4 D. faew waur g ge
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Q.20

Ans

Comprehension:

e TS T T &1 e & SR WR utd uH fEU 7 g1 el it enydes Ue aUT Ul Uy H IR
faemeat # & wet fReved 771

TS & foIg AT &1 iR 9gd Agayul 81 5 SR BT I8 HIT T AT W AT § STET
TR FFA & gHeT Gt ATTRET & T TAEAT BT HagR ot Sirar g1 rd ® goft Sl &l S o ame
TRETUT TYT I o GHE G JUed e & [T ig Urae (e 14-18) fond 7 &1 78 o,
%, ST, ol am 57 2 & armaR R okt e o= e e g1 wfde a8 gRfga axar g e
ARTRE 1A & THey THH g | 33e aread ag & 3 221 & Al g1 gef &t T TReror fier g
off FFA T SR T8 &1 5 31ef 2 o6 af <t eafeh Uan UehR o SroRTe e € ot 3% for fonelt eama &
G g A Ty e, e, S, fol ar S v & anmuR oR Rt & a1y era A1gl S| 98
GrIfoTes GeTaT o forg simaeas g1 HRd & Ydeh AR &l g, SIedTH g, HHRei & drdeia
T qe T Ugd gt duT ag o, ararat srran agen! o s 5 fenelt sieea & o wehdt 81
gIciifeh W gRT Afgerait ok aeai & forg ey uraer @ ge &l g &t S Gend! §1 drdeif-i AR
& ATl § 15T & ZRT fonet & ey i e A R S geft Amies simden o ged § auT IS
o AR 99 Tehd &1 GG JUT TEAT & TR U IASTIR IU gt |

SubQuestion No : 20

AT & ford wht=- a1 if etz gwagef |r=r mar 82
X A WgHE
X B. g mfug
X C. fy wafad e

& D. T

Question ID : 1034357883
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Q.1

Q.2

Ans

Inthe context of problem solving, which of the following statement is correct?

|. Fabricus used a route planning task in which children were asked to devise a route
that would allow then to retrieve a specified set of objects without any
backtracking.

Il. Gauvain and Rogoff attempted to explain problem-solving ability by using a
balance beam.

 A.Cnly |

X B.Bothlandll
25 C.Only Il

< D. Neither I nor |

Question ID : 1034357899

Inthe context of infant auditory-visual co-ordination, which of the following
statement is correct?

I. When the baby hears a sound, the eyes will be reoriented as if to discover the
visual object at its source.

Il. Butterworth and Castillo found in their study that the newborn looked to the
source of the sound.

X A Only i
/< B. Neither [nor Il

X C.Bothlandll

o 0. Only

Question ID : 1034357892
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Q.3 Inhow many weeks, the first postural reflexis to be observed?
Ans o A 28

X B.32

X C.20

X D.24

Question ID : 1034357888

Q.4 Inthecontext of studying infant perception, who was the pioneer of the visual
preference method?

Ans X A Baillageon
X B. Smith

o’ C. Robert Fantz
< D. Gibson

Question ID : 1034357897

Q.5 Inthe context of Altruism, which of the following statement is correct?
I. It is the heart of prosocial behaviour.
Il. It is the behaviour that intended to help others out of inner concern and without
expectation of external reward.

Ans X A. Neither [nor |l
< B.Onlyll
X C.Onlyl

o D.Both land |l

Question ID : 1034357905

Q.6 Inthecontext of one-parent family, which of the following statement is correct?
I. Children in one-parent families tend to do more well socially and educationally

than children in two-parent families.
1. Children in one-parent families are more on their own. They tend to have more

house hold responsibility.
Ans X A Bothlandll

/5 B. Neither [ nor Il
X C.only!

\/ D. Only Il

Question ID : 1034357906

Q.7 Inthecontext of Baumrind's model, which of the following pair is correctly

matched?
|. Authoritarian parents - Value control and Unquestioning obedience
Il. Permissive parents - Value a child's individuality but also stress social

constraints
Ans X A Neither | nor Il

X B.Bothlandll
X C.Onlyll
“/ D. Only

Question ID : 1034357904
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Q.8 Which of the following baby motor development is correctly matched with their
month?
I. Lifts head up when prone - Second month
Il. Rolls from side to side - Fifth month

Ans X A.Onlyll
/X B. Neither Inor Il
X C.Only|
« D.Both land Il

Question ID : 1034357889

Q.9 Inthe Piaget Theory, the limitations of thinking in the preoperational stage are best
illustrated by children performance in

Ans X A Position tasks

o B. Conservation tasks
X C. Construction tasks

< D. Revolution tasks

Question ID : 1034357896

Q.10 Understanding their own emotions helps children ______
|. To guide their own behaviour in social situations
Il. To talk about feelings

Ans X A Neither Inor |l
X B.Onlyl
25 C.QOnly Il

o D. Both land Il

Question ID : 1034357902

Q.11 Piaget divided symbolic play into how many stages?
Ans X A Three

X B Four
X C.Five
o D. Two

Question ID : 1034357900

Q.12 Inthe context of evolution of brain, which of the following statement is correct?
I. The average weight of the brain in the newborn baby is 450 gm.
Il. Inthe first week of foetal development the brain has taken on its adult shape.

Ans X A Onlyll
/< B.Bothland Il
X C. Neither I nor Il

o D. Only

Question ID : 1034357890
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Q.13 Hartshorn carried out a study with older infants using a task that involved learning
to press a lever in order to make a model train move. Which of the following
statement is NOT correct about the results of this study?

I. Nine-months olds remembering their previous learning for six-weeks.
1. Eighteen months olds remembering their previous learning for as long as fourteen
weeks.

Ans X A Bothland
X B.Onlyll
X C.Onlyl
& D. Neither | nor

Question ID : 1034357893

refers to the existence of more than one level of government in the country.

Ans X A Sovereignty
X B. Secularism
/X C.Monarchy

o D. Federalism

Question ID : 1034357907

Q.15 Inthe context of preoperational reasoning, who developed three mountain tasks?
Ans o A Piaget

X B. Sreud

X C. Carey

/¥ D. Gottlieb

Question ID : 1034357895

Q.16 Inthe context of play, which of the following statement is correct?
I. Belsky and most found that, somewhere between the age of 12 and 18 months,
the babies begin to play with objects in symbolic way.
I1. Slade observed toddlers playing at home both on their own and with their mother.
I1l. O'Connell and Bretherton compared children’s responses to mother’s
suggestions during play at the age of 20 and 28 months.

Ans ¢ Al lland |l
X B.land Il
X C.land |l
X D lland i

Question ID : 1034357894

Q.17 Which of the following initiate the birth process?
|. Foetal Pituitary
Il. Adrenal System

Ans X A Onlyll
X B.Only!

 C.Both land Il
X D. Neither I nor ||

Question ID : 1034357891
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______ is the first step in self concept development, in which the child labels himself
or herself correctly and starts to categorize others accurately as male or female.

Ans X A Religious identity
/X B. National identity
«” C. Gender identity

X D. Cultural identity

Question ID : 1034357901

Q.19 Who wrote the book The Moral Judgment of the child?
Ans X A.Rubin

” B. Piaget

X C.Perry

X D. Selman

Question ID : 1034357903

Q.20 “Reaching and grasping” is a important aspect of development in infancy, which of
the following statement is correct about it?
I. Piaget thought that hand movements and vision are initially independent.
1. Bower noted that congenitally blind infants seem to go through a period of “hand
regard”.

Ans X A Onlyl
X B. Neither I nor ||
< C.Only Il
«" D.Bothland |

Question ID : 1034357898

GET IT ON

Google Play

Q.1 'You might have observed that in a class there are some students who learn more
quickly while others learn slowly. In fact, the pace of learning differs from person to
person.’ This given statement represents which characteristic of learning process?

Ans o A Learningis individualistic
/X B.Learning is intentional
X C.Learning is goal directed

X D.Leamningis a continuous process

Question ID : 1034357919

Q.2 By which statement, many developing countries started reformulating their policies
to promote the inclusion of student with disabilities into mainstream schools?

Ans ¢ A TheSalamanca Statement, 1994
/X B. TheHaiti Statement, 1994
X C. The Mozambique Statement, 1994

X D. The Angola Statement, 1994

Question ID : 1034357918
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Q.3 Which of the following excerpts are correct with respect to Article 15 of the Indian
Constitution?
I. The State shall not discriminate against any citizen on grounds only of religion,
race, caste, sex, place of birth or any of them.
1. People should be prohibited on using of public wells.
I1l. People should be given special privilege on the basis of their class.

Ans X A lland Il

X B.land I
o C.landll
X D.Onlyl

Question ID : 1034357912

Q.4 'When one is confronted with a difficult problem, for which he/she does not have any
readymade solution, then he/she will engage in a variety of different responses until
one response produces a satisfying effect’. This type of learningis called ______ .

Ans ¢ A Trial and error learning
/X B.Imitation learning
X C. QObservational learning

X D. Discovery learning

Question ID : 1034357927

Q.5 Inthecontext of Inclusive Education, Which of the following statement is correct?
I. It denotes that all children irrespective of their strengths and weakness will be
part of the mainstream education.

Il. It is clear that education policy in India has gradually increased the focus on
children and adults with special needs.

Ans X A Onlyl
/< B.Only|
X C. Neither I nor |l

v"’ D. Both land |l

Question ID : 1034357917

Q.6 Ateacher canintegrate curricular concepts in any familiar game and make the
students play that game in the classroom. This method of teaching will provide
which of the following advantages?

Ans X A This will establish a control over the students
o B. There will be more concentration but no tiredness
X C. It will help them carry out difficult tasks in future

/< D. This will inhibit physical work

Question ID : 1034357923
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Q.7 Which of the following is the role of teacher in the construction of knowledge of a
student?
I. Providing authentic tasks.
Il. Encouraging them to raise intelligent questions.
I1l. Fostering reflective practice.

Ans o Al llandll
/< B.Only|
X C.land |l

25 D.Only il

Question ID : 1034357922

Q.8 Which of the following statement is correct regarding ‘Motor Reproduction
Process' of observational learning?
I. A person must have basic requirement for the action to be performed by him/her.
Il. Practice the sequence of actions observed repeatedly.

Ans X A Onlyl
X B. Neither I nor |l
~“/ Both | and Il
X D.Onlyli

Question ID : 1034357921

Q.9 In which year was the first war of Indian independence fought?
Ans X A 1860

X B.1858
X C.1859

 D.1857

Question ID : 1034357909

Q.10 In group learning, the grouping of students can be done in which of the following
ways?
I. Grouping by chaice.
I1. Grouping by ability.
11l. Grouping by interest.

Ans X A llandlll
X B.landll
X C.Only|

v i and |

Question ID : 1034357924
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Q.11 The sitting arrangement of students may vary from one activity to another. Which
of the following sitting arrangement is used for group competition?
|. Semi-circle arrangement
Il. Full circle arrangement

Ans X A Bothlandll
X B.Onlyll
o C.Neither | nor |
2< D.Only|

Question ID : 1034357926

Q.12 What is the benefit of Inclusive Education?
I. Enhancing personal principles.
Il. Caring classroom environments.

Ans X A Onlyl
 B.Both land Il
X C. Neither I nor |l

25 D.Onlyll

Question ID : 1034357915

Q.13 Which of the following statements are correct?
I. Gender is a socio-cultural construct.
Il. Gender is systemic.
I1l. Sex is hierarchical.

Ans ¢ A landll
X Bl lland Il
X C.land Il
¥ D.Only Il

Question ID : 1034357913

Q.14 Which of the following is correctly matched?
I. Maria Montessori - Theory and practice of the Casa dei Bambini
Il. John Dewey - Establishment of an elementary level laboratory schoolin Chicago

Ans X A Only|
/X B.Onlyll
X C. Neither I nor Il

o D.Both land ||

Question ID : 1034357920
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Q.15 Arrange the given steps involved in the demonstration method of teaching in the
correct order and select the correct combination.
A. Introduction
B. Blackboard usage
C. Concepts compilation
D. Planning
E. Demonstration

Ans X A BECDA
X B.ADECB
 C.DAEBC
X D.CDABE

Question ID : 1034357925

Q.16 Which statement is correct in respect with the Indian Parliament?
I. It was created after 1947.
Il. Elections to the parliament are held in the same way as state legislature.
I1l. The parliament comes under the judiciary.

Ans X A Only!|
 B.landll
X C.landlll
X D.lland Il

Question ID : 1034357911

Q.17 Which chapter of the persons with Disability Act, 1995 ensures that every child with
disability is entitled to a free education up to the age of 18 years?

Ans X A Chapter IV
X B. Chapter VIl
o C. Chapter
X D. Chapter VI

Question ID : 1034357916

Q.18 Which of the following are NOT included in the chapter VIl of the The right to free
and compulsory education act, 2009?
I. Redressal of grievances
Il. Power to issue directions
I1l. Pupil teacher Ratio

Ans ¢ A landll
X B.land Il
X C.Only!
X D lland Il

Question ID : 1034357910
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Q.19 In which of the following did the women get the right to vote in 1928?
Ans X A France

V) B. United K,I“\gdfﬂ’
X C. India

X D. United States of America

Q.20 Which of the following statements represents the term ‘Gender Differences'?
I. Household work is considered as a women's work.
Il. Any work outside home is believed to be for boys.

Ans X A Onlyll

X B.Only!|
< C. Neither I nor Il
«” D.Both land Il

GET IT ON

Google Play

Question ID : 1034357908

Question ID : 1034357914

Q.1 Problem solving skills includes which of the following skills?
|. Observation
Il. Experimentation
I1l. Estimation

Ans X A Qnlylll
X B landll
X C.lland Il
Dl lland |

Q.2 Information Technologyrefersto ______
|. Hardware of information collection
1. Software of information collection

Ans X A Onlyl
« B.Both land I
Z< C.Only
X D. Neither I nor |l

Q.3 Which of the following combination is NOT correct about the Piaget's stages of
cognitive development?

Ans X A Pre-operational - Inability to conserve
” B. Formal operation = No language and No thought
C. Concrete operations - Understanding of numbers

pe g

X D. Sensorimotor - No Idea of objective reality

Question 1D : 1034357941

Question ID : 1034357928

Question ID : 1034357932
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Q.9 Which of the following is correct about the stages of language acquisition?
|. Paapaa (Father) - One-word stage
Il. 1 am singing - Longer utterances
1. Ball dedo (Asking for something) - Two-word stage

Ans X A.Onlyl

X B.lland Ill
X C.Only Il
& D.I lland |

Question ID : 1034357933

Q.10 From the Environmental studies textbooks of NCERT, you would find the
presentation of content that is having balance between
I. rural and urban development
Il. gender equality and sensitization
I1. religions

Ans X Al lland Il

& B.0nly Il
X C.lland Il
X D.Only il

Question ID : 1034357946

Q.11 Acting silently without speaking also known as
Ans X A listening

& B. miming
< C.shouting

X D singing

Question ID : 1034357935

Q.12 In NCF 2005, it has been categorically stated that at the elementary level, teaching
must be

I. learner centered
1. teacher centered

Ans ¢ A Only
/5 B.Only |l
X C. Neither I nor Il

X D.Both land !l

Question ID : 1034357945

Q.13 Which of the following are the major aims of mathematics?
|. To develop the powers of thinking and reasoning.
Il. To solve mathematical problems of daily life.
I1l. To prepare the child for higher study.

Ans X A Onlyll

X B.land |l
& C. lllandll
X D lland Il

Question ID : 1034357943
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Q.14 Social ______ are prominently observed as the way we use language.
|. Differences
II. Stratifications

Ans ¢ A Both land Il

X B. Neither I nor Il
/< C.Only i
< D.Only!

Q.15 Which of the following pair is correctly matched in the context of language?
|. Formal Context - Family, Friend and Neighbourhood
Il. Informal Context - School, Teachers and Materials

Ans X A Bothlandll
X B.Only!
«” C. Neither I nor |l
X D.Onlyll

Q.16 In every field of physical science mathematics plays vital role in explaining various
phenomena such as
I. Mechanics
Il. Sound
I1l. Chemical reactions
IV. Light

Ans X A lland IV

X B. Il llland IV
X C lllandll

o D.1, 1l llland IV

(result) and store the output.
Ans X A Telephone

X B. Cable Satellite
X C.DVD

Q.18 At what age group, a child is able to comprehend the grammar of not only one
language but 2 to 3 languages?

Ans o A 3 years to 4 years
X B.Gyears to 10 years
X C. 6years to 7 years

/X D. 6 months to 1 year

GET IT ON
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Question ID : 1034357938

Question ID : 1034357939

Question ID : 1034357942

is an electronic device that accepts data then process data, gives the output

Question ID : 1034357929

Question ID : 1034357934
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Q.19 Nepalilanguage was included in the 8th schedule of the Indian constitution through
which Constitutional Amendment Act?

Ans v 4 A. 71st Constitutional Amendment Act 1992
X B. 74th Constitutional Amendment Act 1992
X C.72nd Constitutional Amendment Act 1992

X D. 73rd Constitutional Amendment Act 1992

Question ID : 1034357940

Q.20 Which of the following combination is NOT correct?
|. Operant conditioning - Ivan Paviov
Il. Classical conditioning - B.F skinner

Ans ¢ A Both land Il
< B.Only Il
/X C. Neither I nor Il
X D.Onlyl

Question ID : 1034357931

Q.1 According to Kurt Lewin, an adolescent between the two worldsis a/an ______ T
Ans A Marginal man

/< B.Psychological man

X C.Extra ordinary man

/< D. Social man

Question ID : 1034357960

Q.2 Curricular activities have educational values. What are those values?
I. Language and expression improves through debate and recitation.
Il. Teaching of history gets vitalised by dramatisation.
I1l. Projects provide direct learning opportunities.

Ans X A llandlll

X B.Onlylll
X Clandll
v 0 and|

Question ID : 1034357954
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Q.3 Which of the following factors exacerbates the identity crisis for Indian
adolescents?
|. Breaking down of traditional values.
Il. Absence of adult support.
11l. Rapid changes in the socio-cultural experiences of the adolescents.

Ans o Al llandll
X B.lland Il
X C.landll
/< D.Onlyl

Question ID : 1034357958

Q.4 Hurlock suggested different periods within the adolescence span. Which of the
following periods is correctly matched with average age?
|. Pre-adolescence - 10 to 12 years
Il. Early-adolescence - 13to 16 years
I1l. Late-adolescence - 17 to 21 years

Ans X A Onlyll

< B.Only!
X C.lland Il
& D | lland|

Question ID : 1034357957

Q.5 According to Kett, the emergence of adolescence as a period distinct from
childhood and adulthood can be attributed to a consequence of which of the

following events?
I. Compulsory education in America.
1. Industrialization.

Ans X A Onlyl
X B.Only
v/ C.Both land |l
75 D. Neither I nor Il

Question ID : 1034357961

Q.6 The emergence of puberty heralds the physical changes like growth spurt. The
growth spurt in girls begins at about ______.

Ans 7 A 10-12 years
X B.12-14 years
X C.8-10 years
/< D.15-16 years

Question ID : 1034357956
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Q.7 What are the aims and objectives of Yoga education?
I. It enables the students to have good fitness.
II. It enables the students to posses emotional stability.
I1l. It integrates moral and spiritual values.

Ans X A llandll
< B.Only il
/X C.Only!|
& D.| lland|

Question ID : 1034357955

Q.8 For proper drainage system, which of the following steps should be taken by school
authorities?
I. Regular repair of pipelines to avoid water clogging.
Il. Classrooms should have warm colour paints on walls to give more lighting effect.
I1l. Regular cleaning of drains by local bodies to avoid blockage.

Ans X A llandlll

X B.Onlylll
V? andll
X DI lland il

Question ID : 1034357965

Q.9 How many players are there in a football team excluding goalkeeper?
Ans X A ©

X B.8
X C.11
 D.10

Question ID : 1034357953

Q.10 InIndia the revised framework for adolescence education developed in 2003-04,
which of the following dimensions was not present in the general framework of
1993-96?

Ans X A. Growing uphealthy
< B. Prevention of HIV/AIDS
X C.Prevention of substance abuse

«” D. Development of life-skills education

Question ID : 1034357962

Q.11 Poor health may reduce learning for a variety of reasons. Which of the following are
those reasons?
I. Less efficiency learning per day spent in school.
Il. Lower daily attendance.

Ans X A Onlyl
X B.Onlyll
25 C. Neither I nor Il

o D.Both land |l

Question ID : 1034357963
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Q.12 All the types of systems except ______ are defined in Bronfenbrenner's ecological
theory.
Ans V’ A. Sociosystem

/X B. Microsystem
X C.Mesosystem

X D. Chronosystem

Question ID : 1034357959

Q.13 Which of the following is the contemporary topic of visual art?
I. Photography, computer art

1. Video film

Ans X A Onlyl
o B.Both land Il
X C. Neither I nor Il

X D.Onlyll

Question ID : 1034357949

Q.14 Which factors affect diet?
I. Climate factors, health status and growth.
Il. Eating habits and social customs.

Ans X A Onlyll
X B.Onlyl

& C.Both | and
< D. Neither I nor Il

Question ID : 1034357964

Q.15 “Creation is calling into existence what previously has no form or feature”. This
statement is quoted by which famous person?

Ans ¢ A Herbert Read
X B. Dike Blair
X C.Sarah Sze
/5 D. Mark Leckey

Question ID : 1034357951

Q.16 What is NOT a benefit of sports and games?

Ans X A.Builds a sense of teamwork

X B.Increases mental health

J Jecreases stamina

/& D. Stress - relieving

Question ID : 1034357952
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Q.17 What are the components of social studies?
I. Your housing situation.
Il. Positive interactions with your community (i.e. volunteer work).
I1l. The caring and healthy relationship you have in your life.

Ans Al llandl
X B.Onlyli
X C.land |l
2 D.landlll

Question ID : 1034357966

Q.18 Which science subjects study the life of animals and plants?
Ans X A Physical science

" B.Biological science
X C. Social science

X D. Mathematical science

Question ID: 1034357948

Q.19 Which of the following statement is correct in reference with Art-making?
I. It helps in brain development.
I1. It diminishes the student’s aesthetic sensibilities.

Ans X A Bothlandll

 B.0nly
X C. Neither I nor Il

X D.Onlyll

Question ID : 1034357950

Q.20 With respect to cleantoilets and urinals, what is the role of school authorities?
I. Proper locking system (Bolts and handles).
Il. Toilet block should be cleaned twice a day.
I1l. Toilet and urinal should not be physical challenged friendly.
IV. Sanitation facility should not contaminate ground water.

Ans X Al Il lland IV
& B.l lland IV
X C.I llland IV
X DI lland

Question ID : 1034357967
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Q.1 Which of the following statement is correct in the context of teacher multifarious
role?
|. Teacher acts as a school-community bridge.
Il. Teacher also acts as a administration head in their district.

Ans X A Neither Inor Il
X B.Onlyli

 C.Only
2 D.Bothlandll

Question ID : 1034357985

Q.2 Which of the following is the instruction of leadership?
I. Adoption of the model led to the participation of teachers in management
decisions.
II. The head teacher was popularly viewed as the source of educational expertise.

Ans X A Onlyll
/X B. Neither [ nor Il
/X C.Only!

o D.Both land I

Question ID : 1034357981

Q.3 Which of the following statement is correct in the context of contribution of
community in education?
I. Providing financial support.
Il. Academic and administrative help.
I1l. Determine the syllabus.

Ans X A | llandll

X B.lland Il
X C.land
 D.land|

Question ID : 1034357977

Q.4 "Knowledge gained through experience is far superior and many times more useful
than bookish knowledge”. This statement is quoted by whom?

Ans & A Mahatma Gandhi
X B.Subhash Chandra Bose
X C.Bhagat Singh

X D. Jawaharlal Nehru

Question ID : 1034357970

Q.5 Which of the following objective is included in implementation of work education?
I. To develop capacity and ability.
Il. To boost understanding.

Ans X A Onlyll
/X B. Neither Inor |l
 C.Bothlandll
/X D Onlyl

Question ID : 1034357972
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Q.6 Which of the following is the characteristic of Management?
|. Define purpose, goals and outcomes.
Il. Set policy and strategy.

Ans X A Neither | norll
+ B. Bc th land Il
/< C.Only i
< D.Only!

Question ID : 1034357982

Q.7 At what level, Sarva Shiksha Abhiyan build the structure?
I. Village and Block
1. Cluster and School

Ans X A Neither I nor |l
X B.Only|
«” C.Both land Il
2< D.Onlyll

Question ID : 1034357976

Q.8 Parent Teacher Association ensure
|. community ownership
Il. community participation in education

Ans X A Onlyll
X B.Onlyl

X C. Neither I nor Il

& D.Both land Il

Question ID : 1034357987

Q.9 An educationalinstitution is greatly influenced by
I. culture
Il. climate

Ans X A Onlyll

/5 B. Neither [ nor Il

X C.Onlyl

Question ID : 1034357979

Q.10 Which of the following pair is correctly matched?
Ans & A Regularcleaning - To avoid blockage

/X B.Repair pipeline - To stopinsects breeding
X C.Covered drains - To avoid blockage

X D. Usedisinfectant - To avoid casualty

Question ID : 1034357968
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Q.11 In India, what is community mobilization?
I. Community identify and use availahle resource and plan accordingly.
Il. Important decisions are usually made by ministers of parliament in Rajya Sabha.

Ans X A Bothlandll
X B.Onlyll

X C. Neither | nor |l
o D. Only

Question ID : 1034357986

Q.12 Which of the following statement is correct in the context of the Karnataka
community participation in education?
I. Sanghas are running balwadis with no financial assistance.
1. Sanghas consisting of women are playing active role in enrolling children into
primary schools.

Ans v A.Both land Il
/X B.Only!|
X C.Only Il

25 D. Neither I nor I
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Q.13 What are the essential factors for the success of work education?
I. Unproductive aptitude
Il. Co-operating mindset
I1l. Broadmindedness

Ans X Al llandll

/X B.Only|
o land |
X D.landll
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Q.14 Which of the following activities can be organized in the school?
I. Programme related to cleanliness activities.
Il. Organize interviews of artisans.
11l. Organize health campaigns.
IV. Making government policies.

Ans ¢ Al lland|
X B.ll llland IV
X Clandll
A DL llland IV

Question ID : 1034357973



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

______ was implemented as one of India’s flagship
programmes for universalising elementary education.
I. Sarva Shiksha Abhiyan

I. Parent Teacher Association

Ans ¢ A Only
X B.Onlyli
X C.Bothlandll

2 D. Neither I nor ||
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Q.16 Physical labour is essential for
I. physical health
Il. mental health

Ans X A Onlyl
X B.Only Il
o C.Both land Il
X D. Neither Inor Il
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Q.17 Which commission observed that teachers are the single most important element
of the schoolsystem?

Ans X A TheEducation Commission
< B. University Education Commission
& C. National Knowledge Commission

X D. Secondary Education Commission

Question ID : 1034357984

Q.18 To understand ourselves, we must be aware of our relationship with

|. People
II. Ideas
Il. Nature
Ans X A llandll
& B.I lland |l
/< C.Only 1l
X D.Onlyli
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Q.19 Which of the following statement is correct in the context of the role of teachers?
I. Ateacher plays a pivotal role in school system.
Il. Ateacher is responsible for the educational activities in the school.

Ans X A Onlyl
X B. Neither Inor I
& C.Both land Il
X D.Only Il

Question ID : 1034357983
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Q.20 What do we mean by the ‘right kind of education’?
I. Awakening of intelligence.
Il. Fostering of an integrated life.

Ans X A QOnlyll
X B. Neither I nor |l
” C.Both land Il
< D.Only!
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